ths 282 A P& Aua A4 1ol BT A4S #=et Ao
1 IS HEEA Y a7 AL?
© R P/
©
Q
@-{C
— AL\
[ B
®
® ©6-0-e-e-0 @ @-06-6-0-0-e
® @-0-0--8-© @ @-6-6-C-0-©
®e-eo6-00
O AP AL IS AYE A4S 2209 24 1o 2ol A
7Pz,
@HAEFAHOR 9 183 I wHE B, C ol gt
@ AP E FHLE @f|H9 AT} wAFo] 22 ¢& a1
2 w8E&Q, Rk
@ X B & $HCo= A 50l BC ¢ 9& 2T
©HQEFHLE @ 9 A Fo] Z2 9& 191, 0
oA 17 Ytel wH-S R olet gk
©dP RS A=
.. @-8-0-8-0-©




g 1S F P2 AT YA o] AT YA Frote 37
olth, wA U= g A&7
© R P/
©
Q
@-C
Al \O
5
®
& 3 B2 FHoR WA50] BC o 9& 1t
© AAESFHoR 9 19T 1 LHL B, Colet
G,
© AP AR S ATt
® @ Pot A48 Aks A4S 10w 44 1o
o] A ML,
® 1 Q5 422 BO o 97} vixgo] 2L 42
1291 © 4 29 ko] RS R ol Ft.
@ A PESHERE AB 9 dolg WA 5] 2 9<
J91 2 wHE QR F
® @6-0-6-0-8 @ @0-8-e-@-0
® ©0-6-8-6-0 ® ©0-0-6-6-0
®ececee

B

O AP AN & Avte AMS J00 A4 1o wHol A
7183t

@HAEFHOE 92 1837 I 0HE B, Colat i},
@A P E THLE @A 9] AolF RIA 5ol T2 9& 121
1 RHESQ R

@ 4 B & 422 W50 BC 9 9& I

© 3 QE THOE @9 93t WA go] 2 & It
©HdP+HRE e




3. o2 I"oAA x+ 2y & 72

@® 60° @ 80° (@) 100° 50° Z+50°

@ 150° ® 120° {220

50°4 /y—20°+ zx+50° = 180° ©| 2 & /x4 sy = 100° ]t}




4.

o 2ol A zx+ 2y 9] B2

31-20" 21-20°
Y

20-30°

@® 55° @ 66° @ 77° @)88° ® 99°

y = 3x —20° °] B2 6x — 40° + 4x — 50° = 180° ©]t}.
whakA 10x — 90° = 180°, x = 27° ©]2l y = 3x — 20° = 61°
ol =2 /x4 Ly = 88° O]t}




